

REFINED GENERALIZATIONS OF THE TRIANGLE INEQUALITY ON BANACH SPACES

SIN-EI TAKAHASI, JOHN M. RASSIAS, SABUROU SAITOH
AND YASUJI TAKAHASHI

(Communicated by L.-E. Persson)

Abstract. Let X be a complex Banach space and p a real number with $p \geq 1$. We give a necessary and sufficient condition for complex numbers a, b and real numbers λ, μ and ν in order that the inequality

$$\frac{\|ax + by\|^p}{\lambda} \leq \frac{\|x\|^p}{\mu} + \frac{\|y\|^p}{\nu}$$

holds for every $x, y \in X$.

1. Introduction and main result

Let H be a Hilbert space and let $\lambda, \mu, \nu, a, b \in \mathbf{R} \setminus \{0\}$ with $\lambda = \mu a^2 + \nu b^2$. Then we recall the Euler-Lagrange type identity

$$\frac{\|x\|^2}{\mu} + \frac{\|y\|^2}{\nu} - \frac{\|ax + by\|^2}{\lambda} = \frac{\|vbx - \mu ay\|^2}{\lambda \mu \nu} \quad (1.1)$$

for all $x, y \in H$ ([2-7]). Therefore, if $\lambda \mu \nu > 0$, then we have the inequality

$$\frac{\|ax + by\|^2}{\lambda} \leq \frac{\|x\|^2}{\mu} + \frac{\|y\|^2}{\nu}, \quad (1.2)$$

for all $x, y \in H$. Applying the mapping $T: (\lambda, \mu, \nu) \longrightarrow -(\lambda, \mu, \nu)$, if $\lambda \mu \nu < 0$, then the inequality sign in (1.2) is reversed. In particular, we have the well-known inequality

$$\|x + y\|^2 \leq 2(\|x\|^2 + \|y\|^2), \quad (1.3)$$

called the triangle inequality of the second kind for various reasons in [9]. In particular, for any two Hilbert spaces, some natural sum and a natural triangle inequality which, in particular, implies (1.3) for the sum of same Hilbert spaces were introduced. See also [8]. Of course, we know also

$$\|x + y\|^p \leq 2^{p-1}(\|x\|^p + \|y\|^p) \quad (p \geq 1) \quad (1.4)$$

Mathematics subject classification (2010): 26D15, 26D20.

Keywords and phrases: Inequalities, triangle inequalities, Banach space, Euler-Lagrange type identity, Hua's inequality.

on any Banach space. We may regard (1.2) as Hilbert space version of the classical Bohr's inequality [1]. Cheung and Pečarić [2] studied Bohr type inequalities for bounded linear operators on a complex separable Hilbert space (cf. [4]).

In this paper, we shall give a unified generalization of the inequalities (1.2) and (1.4) on Banach spaces.

Let X be a Banach space, $a, b \in \mathbf{C}$, $\lambda, \mu, \nu \in \mathbf{R}$ and $p \geq 1$. Put

$$D_p^+ = \left\{ (a, b, \lambda, \mu, \nu) : \frac{\|ax + by\|^p}{\lambda} \leq \frac{\|x\|^p}{\mu} + \frac{\|y\|^p}{\nu} \quad (x, y \in X) \right\}$$

and

$$D_p^- = \left\{ (a, b, \lambda, \mu, \nu) : \frac{\|ax + by\|^p}{\lambda} \geq \frac{\|x\|^p}{\mu} + \frac{\|y\|^p}{\nu} \quad (x, y \in X) \right\}.$$

We wish to identify the sets D_p^+ and D_p^- . Note that

$$T(D_p^+) = D_p^-$$

and so, we shall identify the set D_p^+ .

For simplicity, we shall write, for example,

$$\{\lambda > 0, \mu > 0, \nu > 0\}$$

for

$$\{(\lambda, \mu, \nu) \in \mathbf{R}^3 : \lambda > 0, \mu > 0, \nu > 0\}.$$

Our main result is:

THEOREM 1.1. *Let X be a Banach space and $p > 1$. Put $p' = (1 - 1/p)^{-1}$. Then,*

- (i) $D_p^+ \cap \{\lambda > 0, \mu > 0, \nu > 0\}$
 $= \{\lambda > 0, \mu > 0, \nu > 0, |\lambda|^{1/(p-1)} \geq |\mu|^{1/(p-1)}|a|^{p'} + |\nu|^{1/(p-1)}|b|^{p'}\}.$
- (ii) $D_p^+ \cap \{\lambda < 0, \mu < 0, \nu > 0\}$
 $= \{\lambda < 0, \mu < 0, \nu > 0, |\lambda|^{1/(p-1)} \leq |\mu|^{1/(p-1)}|a|^{p'} - |\nu|^{1/(p-1)}|b|^{p'}\}.$
- (iii) $D_p^+ \cap \{\lambda < 0, \mu > 0, \nu < 0\}$
 $= \{\lambda < 0, \mu > 0, \nu < 0, |\lambda|^{1/(p-1)} \leq -|\mu|^{1/(p-1)}|a|^{p'} + |\nu|^{1/(p-1)}|b|^{p'}\}.$
- (iv) $D_p^+ \cap \{\lambda < 0, \mu < 0, \nu < 0\} = \phi.$
- (v) $D_p^+ \cap \{\lambda > 0, \mu > 0, \nu < 0\} = \phi.$
- (vi) $D_p^+ \cap \{\lambda > 0, \mu < 0, \nu > 0\} = \phi.$
- (vii) $D_p^+ \cap \{\lambda > 0, \mu < 0, \nu < 0\} = \phi.$
- (viii) $D_p^+ \cap \{\lambda < 0, \mu > 0, \nu > 0\} = \mathbf{C} \times \mathbf{C} \times \mathbf{R}^3 \setminus \{\lambda \mu \nu = 0\}.$

2. Proof of Theorem 1.1

For the proof of Theorem 1.1 we need the following basic

LEMMA 2.1. ([cf. [10, Theorem 1, (iii)]). Let $p > 1$ and $\mathbf{R}^+ = \{t \in \mathbf{R} : t \geq 0\}$.

Set

$$S_1 = \{(A, B) \in \mathbf{R}^2 : A + B = 1, 0 \leq A \leq 1\}$$

and

$$h_p(\alpha) = \alpha(\alpha^{1/(p-1)} - 1)^{1-p} \quad \text{for } \alpha \in \mathbf{R}^+, \alpha > 1.$$

If $D \subseteq \{(A, B) \in \mathbf{R}^2 : A, B \geq 0, A + B \geq 1\}$ with $S_1 \subseteq \text{cl}(D)$, the topological closure of D in \mathbf{R}^2 , then

$$\begin{aligned} & \bigcap_{(A,B) \in D} \{(\alpha, \beta) \in \mathbf{R}^+ \times \mathbf{R}^+ : \alpha A^p + \beta B^p \geq 1\} \\ & = \{(\alpha, \beta) \in \mathbf{R}^+ \times \mathbf{R}^+ : \alpha > 1, \beta \geq h_p(\alpha)\} \end{aligned}$$

holds.

Proof of Theorem 1.1.

If $ab = 0$, then, the results are simple; indeed, for example, if

$$a \neq 0, b = 0, \lambda > 0, \mu > 0, \nu > 0,$$

then,

$$\begin{aligned} \frac{\|ax + by\|^p}{\lambda} & \leq \frac{\|x\|^p}{\mu} + \frac{\|y\|^p}{\nu} \quad (x, y \in X) \\ \Leftrightarrow \frac{\|ax\|^p}{\lambda} & \leq \frac{\|x\|^p}{\mu} + \frac{\|y\|^p}{\nu} \quad (x, y \in X) \\ \Leftrightarrow \frac{\|ax\|^p}{\lambda} & \leq \frac{\|x\|^p}{\mu} \quad (x \in X) \\ \Leftrightarrow \frac{|a|^p}{\lambda} & \leq \frac{1}{\mu} \\ \Leftrightarrow |\lambda|^{1/(p-1)} & \geq |\mu|^{1/(p-1)} |a|^{p'} \\ \Leftrightarrow |\lambda|^{1/(p-1)} & \geq |\mu|^{1/(p-1)} |a|^{p'} + |\nu|^{1/(p-1)} |b|^{p'}, \end{aligned}$$

that is, we obtain (i).

In the sequel we shall assume that $ab \neq 0$.

(i) For $x, y \in X$ with $x + y \neq 0$, set

$$A_{x,y}^1 = \frac{\|x\|}{\|x + y\|}, \quad B_{x,y}^1 = \frac{\|y\|}{\|x + y\|}$$

and

$$D_1 = \{(A_{x,y}^1, B_{x,y}^1) \in \mathbf{R}^2 : x, y \in X, x + y \neq 0\}.$$

Then, we see that $D_1 \subseteq \{(A, B) \in \mathbf{R}^2 : A, B \geq 0, A + B \geq 1\}$ and $S_1 \subseteq cl(D_1)$. Note that for $\lambda > 0, \mu > 0, \nu > 0$,

$$\frac{\|ax + by\|^p}{\lambda} \leq \frac{\|x\|^p}{\mu} + \frac{\|y\|^p}{\nu} \quad (x, y \in X)$$

if and only if

$$1 \leq \frac{\lambda}{\mu|a|^p}A^p + \frac{\lambda}{\nu|b|^p}B^p \quad ((A, B) \in D_1).$$

Therefore we have from Lemma 2.1 that

$$D_p^+ \cap \{\lambda > 0, \mu > 0, \nu > 0\} = \left\{ \lambda > 0, \mu > 0, \nu > 0, \frac{\lambda}{\mu|a|^p} > 1, \frac{\lambda}{\nu|b|^p} \geq \frac{\lambda}{\mu|a|^p} \left(\left(\frac{\lambda}{\mu|a|^p} \right)^{1/(p-1)} - 1 \right)^{1-p} \right\}.$$

If $\lambda > 0, \mu > 0, \nu > 0$, then

$$\frac{\lambda}{\nu|b|^p} \geq \frac{\lambda}{\mu|a|^p} \left(\left(\frac{\lambda}{\mu|a|^p} \right)^{1/(p-1)} - 1 \right)^{1-p}$$

can be rewritten as

$$\lambda^{1/(p-1)} \geq \mu^{1/(p-1)}|a|^{p'} + \nu^{1/(p-1)}|b|^{p'}.$$

Also if $\lambda > 0, \mu > 0, \nu > 0$ and $\lambda^{1/(p-1)} \geq \mu^{1/(p-1)}|a|^{p'} + \nu^{1/(p-1)}|b|^{p'}$, then $\lambda^{1/(p-1)} > \mu^{1/(p-1)}|a|^{p'}$ and hence $\frac{\lambda}{\mu|a|^p} > 1$. Therefore, we obtain the desired result.

(ii) For $x, y \in X$ with $x \neq 0$, set

$$A_{x,y}^2 = \frac{\|x + y\|}{\|x\|}, \quad B_{x,y}^2 = \frac{\|y\|}{\|x\|}$$

and

$$D_2 = \{(A_{x,y}^2, B_{x,y}^2) \in \mathbf{R}^2 : x, y \in X, x \neq 0\}.$$

Then, we see that $D_2 \subseteq \{(A, B) \in \mathbf{R}^2 : A, B \geq 0, A + B \geq 1\}$ and $S_1 \subseteq cl(D_2)$. Note that for $\lambda < 0, \mu < 0, \nu > 0$,

$$\frac{\|ax + by\|^p}{\lambda} \leq \frac{\|x\|^p}{\mu} + \frac{\|y\|^p}{\nu} \quad (x, y \in X)$$

if and only if

$$1 \leq \frac{\mu|a|^p}{\lambda}A^p + \frac{-\mu|a|^p}{\nu|b|^p}B^p \quad ((A, B) \in D_2).$$

Therefore we have from Lemma 2.1 that

$$D_p^+ \cap \{\lambda < 0, \mu < 0, \nu > 0\}$$

$$= \left\{ \lambda < 0, \mu < 0, \nu > 0, \frac{\mu|a|^p}{\lambda} > 1, \frac{-\mu|a|^p}{\nu|b|^p} \geq \frac{\mu|a|^p}{\lambda} \left(\left(\frac{\mu|a|^p}{\lambda} \right)^{1/(p-1)} - 1 \right)^{1-p} \right\}.$$

If $\lambda < 0, \mu < 0, \nu > 0$, then

$$\frac{-\mu|a|^p}{\nu|b|^p} \geq \frac{\mu|a|^p}{\lambda} \left(\left(\frac{\mu|a|^p}{\lambda} \right)^{1/(p-1)} - 1 \right)^{1-p}$$

can be rewritten as

$$(-\lambda)^{1/(p-1)} \leq (-\mu)^{1/(p-1)}|a|^{p'} - \nu^{1/(p-1)}|b|^{p'}.$$

Also if $\lambda < 0, \mu < 0, \nu > 0$ and $(-\lambda)^{1/(p-1)} \leq (-\mu)^{1/(p-1)}|a|^{p'} - \nu^{1/(p-1)}|b|^{p'}$, then $(-\lambda)^{1/(p-1)} < (-\mu)^{1/(p-1)}|a|^{p'}$ and hence $\frac{\mu|a|^p}{\lambda} > 1$. Therefore, we obtain the desired result.

(iii) For $x, y \in X$ with $y \neq 0$, set

$$A_{x,y}^3 = \frac{\|x+y\|}{\|y\|}, \quad B_{x,y}^3 = \frac{\|x\|}{\|y\|}$$

and

$$D_3 = \{(A_{x,y}^3, B_{x,y}^3) \in \mathbf{R}^2 : x, y \in X, y \neq 0\}.$$

Then, we see that $D_3 \subseteq \{(A, B) \in \mathbf{R}^2 : A, B \geq 0, A + B \geq 1\}$ and $S_1 \subseteq cl(D_3)$. Note that for $\lambda < 0, \mu > 0, \nu < 0$,

$$\frac{\|ax + by\|^p}{\lambda} \leq \frac{\|x\|^p}{\mu} + \frac{\|y\|^p}{\nu} \quad (x, y \in X)$$

if and only if

$$1 \leq \frac{-\nu|b|^p}{-\lambda}A^p + \frac{-\nu|b|^p}{\mu|a|^p}B^p \quad ((A, B) \in D_3).$$

Therefore we have from Lemma 2.1 that

$$D_p^+ \cap \{\lambda < 0, \mu > 0, \nu < 0\}$$

$$= \left\{ \lambda < 0, \mu > 0, \nu < 0, \frac{-\nu|b|^p}{-\lambda} > 1, \frac{-\nu|b|^p}{\mu|a|^p} \geq \frac{-\nu|b|^p}{-\lambda} \left(\left(\frac{-\nu|b|^p}{-\lambda} \right)^{1/(p-1)} - 1 \right)^{1-p} \right\}.$$

If $\lambda < 0, \mu > 0, \nu < 0$, then

$$\frac{-\nu|b|^p}{\mu|a|^p} \geq \frac{-\nu|b|^p}{-\lambda} \left(\left(\frac{-\nu|b|^p}{-\lambda} \right)^{1/(p-1)} - 1 \right)^{1-p}$$

can be rewritten as

$$(-\lambda)^{1/(p-1)} \leq -\mu^{1/(p-1)}|a|^{p'} + (-\nu)^{1/(p-1)}|b|^{p'}.$$

Also if $\lambda < 0, \mu > 0, \nu < 0$ and $(-\lambda)^{1/(p-1)} \leq -\mu^{1/(p-1)}|a|^{p'} + (-\nu)^{1/(p-1)}|b|^{p'}$, then $(-\lambda)^{1/(p-1)} < (-\nu)^{1/(p-1)}|b|^{p'}$ and hence $\frac{-\nu|b|^p}{-\lambda} > 1$. Therefore, we obtain the desired result.

The results (iv)–(viii) are clear. \square

3. Remarks

Let ε_t be the sign function of $\mathbf{R} \setminus \{0\}$; that is, $\varepsilon_t = 1$, ($t > 0$); $\varepsilon_t = -1$, ($t < 0$). Then, from Theorem 1.1 we have

COROLLARY 3.1. *Let X be a Banach space, $a, b \in \mathbf{C}$, $p > 1$ and $\lambda, \mu, \nu \in \mathbf{R} \setminus \{0\}$ with $\lambda\mu\nu > 0$ but not $[\lambda > 0, \mu < 0, \nu < 0]$. Then the inequality*

$$\frac{\|ax + by\|^p}{\lambda} \leq \frac{\|x\|^p}{\mu} + \frac{\|y\|^p}{\nu} \quad (x, y \in X) \quad (3.1)$$

holds if and only if

$$\varepsilon_\lambda |\lambda|^{1/(p-1)} \geq \varepsilon_\mu |\mu|^{1/(p-1)} |a|^{p'} + \varepsilon_\nu |\nu|^{1/(p-1)} |b|^{p'}. \quad (3.2)$$

If $\lambda\mu\nu < 0$ but not $[\lambda < 0, \mu > 0, \nu > 0]$, then the inequality signs are reversed.

Note that if $p = 2$, then (3.2) is reduced to

$$\lambda \geq \mu a^2 + \nu b^2.$$

Therefore, Corollary 3.1 is a generalization of the inequality (1.2).

In Corollary 3.1, we put, for $\alpha, \beta > 0$

$$\lambda = (\alpha + \beta)^{p-1}, \mu = \alpha^{p-1} |a|^{-p}, \nu = \beta^{p-1} |b|^{-p}.$$

Then, $\lambda\mu\nu > 0$ and (λ, μ, ν) satisfies the condition (3.2). Therefore, we have from Corollary 3.1 that for $\alpha, \beta > 0$ and for $x, y \in X$,

$$\|x + y\|^p \leq (\alpha + \beta)^{p-1} \left(\frac{\|x\|^p}{\alpha^{p-1}} + \frac{\|y\|^p}{\beta^{p-1}} \right) \quad (p \geq 1).$$

In particular, we obtain the inequality (1.4).

In general, we see some deep relationship between inequalities and convexity. See, for example, the recent book [1]. For the functional $F(x) = \|x\|^p, p > 1$, (1.4) implies the mid point convexity

$$F\left(\frac{x+y}{2}\right) \leq \frac{F(x) + F(y)}{2}.$$

Moreover, the above generalization of the inequality can be rewritten as

$$F(ax + (1-a)y) \leq aF(x) + (1-a)F(y),$$

where $a = \frac{\alpha}{\alpha + \beta}$, i.e. the inequality means that the functional $F(x)$ is not only midpoint convex but also it is in fact convex (cf. [1]). At this moment, we can not, however, refer to some relationship between our inequalities and convexity.

4. The case $p = 1$

For $p = 1$, we obtain

THEOREM 4.1.

$$D_1^+ = \{\lambda < 0, \mu > 0, \nu > 0\} \cup \{\lambda > 0, \mu > 0, \nu > 0, \lambda \geq \mu|a|, \lambda \geq \nu|b|\} \\ \cup \{\lambda < 0, \mu < 0, \nu > 0, \lambda \geq \mu|a|, -\nu|b| \geq \mu|a|\} \\ \cup \{\lambda < 0, \mu > 0, \nu < 0, \lambda \geq \nu|b|, -\mu|a| \geq \nu|b|\}.$$

Proof of Theorem 4.1.

For the case $ab = 0$, the desired result follows from an easy observation. So, we shall assume that $ab \neq 0$.

Let $(a, b, \lambda, \mu, \nu) \in D_1^+$. Then,

$$\frac{\|ax + by\|}{\lambda} \leq \frac{\|x\|}{\mu} + \frac{\|y\|}{\nu}, \tag{4.1}$$

for all $x, y \in X$. If $\lambda > 0, \mu < 0$, then by (4.1), $|a|\|x\|/\lambda \leq \|x\|/\mu$ must hold for all $x \in X$. This is a contradiction. Similarly, we obtain a contradiction for the case of $\lambda > 0, \nu < 0$. Also, if $\lambda < 0, \mu < 0, \nu < 0$, then

$$\frac{\|x\|}{-\mu} + \frac{|a|\|x\|}{|b|-\nu} \leq 0$$

must hold for all $x \in X$. This is a contradiction. If $\lambda > 0, \mu > 0, \nu > 0$, then we have $\lambda \geq \mu|a|$ and $\lambda \geq \nu|b|$ by putting $x = e$, the unit element, $y = 0$ and $x = 0, y = e$ in (4.1), respectively. If $\lambda < 0, \mu < 0, \nu > 0$, then we have $\lambda \geq \mu|a|$ and $-\nu|b| \geq \mu|a|$ since (4.1) can be rewritten as

$$\frac{\|x + y\|}{-\mu|a|} \leq \frac{\|x\|}{-\lambda} + \frac{\|y\|}{\nu|b|} \quad (x, y \in X).$$

If $\lambda < 0, \mu > 0, \nu < 0$, then $\lambda \geq \nu|b|$ and $-\mu|a| \geq \nu|b|$ since (4.1) can be rewritten by

$$\frac{\|x + y\|}{-\nu|b|} \leq \frac{\|x\|}{-\lambda} + \frac{\|y\|}{\mu|a|} \quad (x, y \in X).$$

Then we have

$$D_1^+ \subseteq \{\lambda < 0, \mu > 0, \nu > 0\} \cup \{\lambda > 0, \mu > 0, \nu > 0, \lambda \geq \mu|a|, \lambda \geq \nu|b|\} \\ \cup \{\lambda < 0, \mu < 0, \nu > 0, \lambda \geq \mu|a|, -\nu|b| \geq \mu|a|\} \\ \cup \{\lambda < 0, \mu > 0, \nu < 0, \lambda \geq \nu|b|, -\mu|a| \geq \nu|b|\}.$$

Conversely, if $\lambda < 0, \mu > 0, \nu > 0$, then $(a, b, \lambda, \mu, \nu) \in D_1^+$ is clear. If $\lambda > 0, \mu > 0, \nu > 0, \lambda \geq \mu|a|$ and $\lambda \geq \nu|b|$, then

$$\frac{\|ax + by\|}{\lambda} \leq \frac{\|ax\|}{\lambda} + \frac{\|by\|}{\lambda} \leq \frac{\|x\|}{\mu} + \frac{\|y\|}{\nu},$$

and hence $(a, b, \lambda, \mu, \nu) \in D_1^+$. If $\lambda < 0, \mu < 0, \nu > 0, \lambda \geq \mu|a|$ and $-\nu|b| \geq \mu|a|$, then

$$\frac{\|x\|}{\mu|a|} + \frac{\|y\|}{\nu|b|} \geq \frac{\|x\|}{\mu|a|} - \frac{\|y\|}{\mu|a|} = \frac{\|x\| - \|y\|}{\mu|a|} \geq \frac{\|x + y\|}{\mu|a|} \geq \frac{\|x + y\|}{\lambda}.$$

Therefore, (4.1) holds and hence $(a, b, \lambda, \mu, \nu) \in D_1^+$.

If $\lambda < 0, \mu > 0, \nu < 0, \lambda \geq \nu|b|$ and $-\mu|a| \geq \nu|b|$, then

$$\frac{\|x\|}{\mu|a|} + \frac{\|y\|}{\nu|b|} \geq \frac{\|x\|}{-\nu|b|} + \frac{\|y\|}{\nu|b|} = \frac{\|y\| - \|x\|}{\nu|b|} \geq \frac{\|x + y\|}{\nu|b|} \geq \frac{\|x + y\|}{\lambda}.$$

Therefore, (4.1) holds and hence $(a, b, \lambda, \mu, \nu) \in D_1^+$. Then we have

$$\begin{aligned} D_1^+ \supseteq & \{ \lambda < 0, \mu > 0, \nu > 0 \} \cup \{ \lambda > 0, \mu > 0, \nu > 0, \lambda \geq \mu|a|, \lambda \geq \nu|b| \} \\ & \cup \{ \lambda < 0, \mu < 0, \nu > 0, \lambda \geq \mu|a|, -\nu|b| \geq \mu|a| \} \\ & \cup \{ \lambda < 0, \mu > 0, \nu < 0, \lambda \geq \nu|b|, -\mu|a| \geq \nu|b| \}. \end{aligned}$$

Consequently we obtain the desired result. \square

Acknowledgements. S.-E. Takahasi is supported in part by the Grant-in-Aid for Scientific Research (C)(No. 16540135) from the Japan Society for the Promotion Science. S. Saitoh is supported in part by the Grant-in-Aid for Scientific Research (C)(No. 16540137) from the Japan Society for the Promotion Science and by the Mitsubishi Foundation, the 36th, Natural Sciences, No. 20 (2005-2006). Y. Takahashi is supported in part by the Grant-in-Aid for Scientific Research (C)(No.15540179) from the Japan Society for the Promotion Science. The authors wish to express their deep thanks Professor Persson for his valuable comments on this paper.

REFERENCES

- [1] BOHR, H., *Zur theorie der fastperiodischen funktionen I*, Acta Math. **45** (1924) 29–127.
- [2] CHEUNG, W.-S. AND PEČARIĆ, J., *Bohr's inequalities for Hilbert space operators*, J. Math. Anal. Appl. **323** (2006), 403–412.
- [3] NICULESCU, C., AND PERSSON, L.-E., *Convex Functions and Their Applications – A Contemporary Approach*, CMS Press, Springer 2006.
- [4] PEČARIĆ, J. AND RASSIAS, TH. M., *Variations and generalizations of Bohr's inequality*, J. Math. Anal. Appl. **174** (1993), 138–146.
- [5] RASSIAS, J. M., *On the stability of the Euler-Lagrange functional equation*, Chinese J. Math. **20**(1992), 185–190.
- [6] RASSIAS, J. M., *On the stability of the non-linear Euler-Lagrange functional equation in real normed linear spaces*, J. Math. Phys. Sci. **28**(1994), 231–235.
- [7] RASSIAS, J. M., *On the stability of the general Euler-Lagrange functional equation*, Demonstratio Math. **29**(1996), 755–766.
- [8] RASSIAS, J. M., *Solutions of the Ulam stability problem for Euler-Lagrange quadratic mappings*, J. Math. Anal. Appl. **220**(1998), 613–639.
- [9] RASSIAS, J. M., *On the stability of the multi-dimensional Euler-Lagrange functional equation*, J. Indian Math. Soc. (N.S.), **66**(1999), 1–9.
- [10] RASSIAS, J. M., AND RASSIAS, M. J., *On the Ulam stability for Euler-Lagrange type quadratic functional equations*, Austral. J. Anal. Appl. **2**(2005), 1–10.
- [11] SAITOH, S., *Various operators in Hilbert space introduced by transforms*, International J. of Applied Math. **1**(1999), no. 1, 111–126.

- [12] SAITOH, S., *Generalizations of the triangle inequality*, J. Inequal. Pure Appl. Math. 4(2003), no. 3, Article 62, 1–5.
- [13] TAKAGI, H., MIURA, T., HAYATA, T., AND TAKAHASI, S.-E., *A reconsideration of Hua's inequality II*, J. Inequal. Appl. (to appear).

(Received May 19, 2006)

Sin-Ei Takahasi
Department of Basic Technology
Applied Mathematics and Physics
Yamagata University
Yonezawa 992-8510
Japan

e-mail: sin-ei@emperor.yz.yamagata-u.ac.jp

John M. Rassias
National and Capodisdrtrian University of Athens
4, Agamemnonos Str.
Aghia Paraskevi Attikis
Athens 15342
Greece

e-mail: jrassias@primedu.uoa.gr

Saburoou Saitoh
Department of Mathematics
Faculty of Engineering
Gunma University
Kiryu 376-8515
Japan

e-mail: ssaitoh@math.sci.gunma-u.ac.jp

Yasuji Takahashi
Department of System Engineering
Okayama Prefectural University
Soja 719-1196
Japan

e-mail: takahasi@cse.oka-pu.ac.jp